ACTIVE-DUTY MILITARY TUITION AND FEES



Undergraduate Programs NOTE: Books are included in the cost of tuition

•

Associate's Tuition	Credits	Cost per Credit	Total Tuition	Notes
Tuition	90	\$165	\$14,850	

Bachelor's Tuition	Credits	Cost per Credit	Total Tuition	Notes
Tuition: Standard	180	\$165	\$29,700	
Tuition: BS in Nursing	90-130	\$165	\$14,850- \$21,450	

Certificate Tuition	Credits	Cost per Credit	Total Tuition	Notes
Applied Behavior Analysis Postbaccalaureate Certificate	35	\$165	\$5,775	
Crime Scene Technician Certificate	41	\$165	\$6,765	
General Education Certificate	45	\$165	\$7,425	
Human Resources Postbaccalaureate Certificate	30	\$165	\$4,950	



Certificate Tuition	Credits	Cost per Credit	Total Tuition	Notes
Human Services Certificate in Child and Family Services	43	\$165	\$7,095	
Human Services Certificate in Elder Care Services	43	\$165	\$7,095	
Legal Secretary Certificate	31	\$165	\$5,115	
Management and Supervision Certificate in Criminal Justice	36	\$165	\$5,940	
Medical Assistant Certificate	58	\$165	\$9,570	
Medical Billing/Coding Certificate	44	\$165	\$7,260	
Medical Office Administration Certificate	57	\$165	\$9,405	
Pathway to Paralegal Postbaccalaureate Certificate	36	\$165	\$5,940	



General Fees	Standard Cost	Servicemember Cost		Notes
Resource	\$345/term	Waived	\$0	
IT lab/simulation	\$65/term	Waived	\$0	IT degree and certificate programs
Background check(s)	\$41-\$44	\$41-\$44	\$41-\$44	Criminal justice, human services, and nursing programs; some programs require 2 background checks (prior to enrollment, prior to clinicals)
EL206 portfolio review fee for experiential learning credit	\$1,500 plus tuition	\$1,500 plus tuition		For-credit course; \$750 at end of add/drop week and \$750 upon portfolio submission
LRC100 portfolio review fee for experiential learning credit	\$1,500	\$1,500		Noncredit course; upon portfolio submission
Education Abroad (BU329 or HS470)	Varies	Varies	Varies	International travel experience, \$3,000- \$4,500; virtual travel experience, \$250-\$400. Fees are subject to change.



Program- and Course- Specific Fees	Standard Cost	Servicemember Cost	Notes
Associate of Science in Nursing			One-time software fee of \$125 in NU140CL or NU108; Iowa residents, \$54.00 for the Iowa- specific Child and Dependent Adult Abuse check.
Bachelor of Science in Aviation fight practical fees	Varies	Varies	Sterling: AV253, \$11,317.00; AV210, \$2,500.00; AV243 and AV248, \$14,611,50; AV351, \$12,913.00; AV253, \$8,173.00. Lunken: AV145, \$13,387.00; AV253, \$11,317.00; AV253, \$11,317.00; AV253, \$11,317.00; AV210, \$2,500.00; AV243 and AV248, \$14,611,50; AV248, \$14,611,50; AV351, \$12,913.00; AV253, \$8,173.00. New Orleans Aerial Tours and Flight Training:



Program- and Course- Specific Fees	Standard Cost	Servicemember Cost	Notes
			AV253, \$14,255.00; AV210, \$2,500.00; AV243 and AV248, \$16,140.00; AV351, \$11,230.00; AV253, \$9,800.00. AeroGuard : AV253, \$9,355.00; AV210, \$2,500.00; AV210, \$2,500.00; AV243, \$15,600.00; AV248, \$14,490.00; AV248, \$14,490.00; AV351, \$12,159.00; AV253, \$5,175.00.
Bachelor of Science in Health Information Management program fee			Program fee, \$300.00 during initial program enrollment; exam fee, \$300.00 as part of HI499 (waived for active duty servicemembers)
Bachelor of Science in Nursing program fees and supplies			All costs related to drug screens/ immunizations as required; clinical fee of \$350 per course for



Program- and Course- Specific Fees	Standard Cost	Servicemember Cost	Notes
			NU497 and NU498; badge and required items, \$50.
Medical Assistant Certificate program fee, PA-specific background check			Program fee, payable in six installments of \$175.00 each across six terms; PA-specific background checks and fingerprinting, \$25.00 to \$80.00.
Medical Billing/Coding Certificate program fees			Program fee, \$175 payable during initial enrollment.
Medical Office Management Certificate program fee, PA-specific background check			Program fee, \$300, payable during initial enrollment; lowa residents, \$54.00 for the lowa- specific Child and Dependent Adult Abuse check.



Graduate and Doctoral Programs NOTE: Books and instructional materials are estimated at \$50.00 to \$250.00 per course. This is the approximate cost of books and supplies per term for a full-time student.

Master's Tuition	Credits	Cost per Credit	Total Tuition
Master of Business Administration	60	\$320	\$19,200
Master of Health Care Administration	52	\$320	\$16,640
Master of Health Informatics	48	\$320	\$15,360
Master of Health Information Management	48	\$320	\$15,360
Master of Professional Studies	50-52	\$320	\$16,000- \$16,640
Master of Public Administration	55	\$320	\$17,600
Master of Public Health	56	\$320	\$17,920
Master of Science in Accounting	52	\$320	\$16,640
Master of Science in Applied Behavior Analysis	45	\$320	\$14,400
Master of Science in Criminal Justice	55	\$320	\$17,600
Master of Science in Cybersecurity Management	60	\$320	\$19,200
Master of Science in Data Analytics	52	\$320	\$16,640
Master of Science in Education	46	\$320	\$14,720
Master of Science in Educational Psychology	47	\$320	\$15,040
Master of Science in Finance	56	\$320	\$17,920
Master of Science in Health Education	56	\$320	\$17,920



Master's Tuition	Credits	Cost per Credit	Total Tuition
Master of Science in Higher Education	50	\$320	\$16,000
Master of Science in Homeland Security and Emergency Management	55	\$320	\$17,600
Master of Science in Human Services	45	\$320	\$14,400
Master of Science in Information Technology	60	\$320	\$19,200
Master of Science in Instructional Design and Technology	45	\$320	\$14,400
Master of Science in Legal Studies	55	\$320	\$17,600
Master of Science in Management and Leadership	56	\$320	\$17,920
Master of Science in Nursing	60-90	\$320	\$19,200- \$28,800
Master of Science in Nursing, DNP Path	60-90	\$320	\$19,200- \$28,800
Master of Science in Nursing/MBA Dual Degree	88	\$320	\$28,160
Master of Science in Professional Studies	50-52	\$320	\$16,000- \$16,640
Master of Science in Psychology	60-75	\$320	\$19,200- \$24,000



Doctoral Tuition	Credits	Cost per Credit	Total Tuition
Doctor of Nursing Practice	48-57	\$560	\$26,880-\$31,920

Certificate Tuition	Credits	Cost per Credit	Total Tuition	Notes
Adult-Gerontology Acute Care Nurse Practitioner Postgraduate Certificate	51	\$320	\$16,320	
Adult-Gerontology Primary Care Nurse Practitioner Postgraduate Certificate	60	\$320	\$19,200	
Diversity, Equity, and Inclusivity Graduate Certificate	25	\$320	\$8,000	
Executive Leader Postgraduate Certificate	30	\$320	\$9,600	
Family Nurse Practitioner, Primary Care Postgraduate Certificate	60	\$320	\$19,200	
Graduate Certificate in Accounting	16	\$320	\$5,120	
Graduate Certificate in Addictions	40	\$320	\$12,800	
Graduate Certificate in Human Resources	16	\$320	\$5,120	



Certificate Tuition	Credits	Cost per Credit	Total Tuition	Notes
Graduate Certifcate in Industrial/Organizational Psychology	30	\$320	\$9,600	
Graduate Certifcate in Instructional Design and Technology	20	\$320	\$6,400	
Graduate Certifcate in Project Management	16	\$320	\$5,120	
Nurse Educator Postgraduate Certifcate	30	\$320	\$9,600	
Psychiatric Mental Health Nurse Practitioner Postgraduate Certifcate	48	\$320	\$15,360	

General Fees	Standard Cost	Servicemember Cost		Notes
Resource	\$295– \$300/term	\$100-\$200/term	Varies	
IT lab/simulation	\$65/term	Waived	\$0	
Background check	\$29-\$44	\$29-\$44	\$29-\$44	
Education Abroad (GB528, GB529, GB602, or HS570)	Varies	Varies	Varies	International travel experience, \$3,000- \$4,500; virtual travel experience, \$250-\$400. Fees are subject to change.



Program- and Course-Specific Fees	
Adult-Gerontology Acute Care Nurse Practitioner Postgraduate Certificate	Up to 4 clinical course requirements fee of \$350.00: MN 569, MN 573, MN 577, MN 581, MN 585, and MN 610. Clinical fee of \$350.00 per course for MN 653, MN 655, and MN 657. One- time fee between \$340.00-\$540.00 for immersive learning experiences hardware and one-time \$170.00 software fee in MN650. May be charged additional fees by the third-party clinical facility at the discretion of the clinical location. Badge and required items, \$50
Adult-Gerontology Primary Care Nurse Practitioner Postgraduate Certificate	Up to 4 clinical course requirements fee of \$350.00: MN 569, MN 573, MN 577, MN 581, MN 585, and MN 610. One-time fee between \$340.00- \$540.00 for immersive learning experiences hardware and a one-time \$130.00 software fee in MN566. May be charged additional fees by the third-party clinical facility at the discretion of the clinical location. Badge and required items, \$50.
Doctor of Nursing Practice	Clinical fee of \$350.00 per course for DN723, DN753, DN813, and DN823. Badge and required items, \$50.
Family Nurse Practitioner, Primary Care Postgraduate Certificate	Up to 4 clinical course requirements fee of \$350.00: MN 569, MN 573, MN 577, MN 581, MN 585, and MN 610. One-time fee between \$340.00- \$540.00 for immersive learning experiences hardware and a one-time \$130.00 software fee in MN566. May be charged additional fees by the third-party clinical facility at the discretion of the clinical location. Badge and required items, \$50.
Master of Arts in Teaching	Students who choose the Classroom Pathways Bundle with the American Board for Certification of Teacher Excellence Plus+ Program will pay a one-time fee of \$1,850.00 (\$925.00 in each of the last two terms of the MAT program).
Master of Business Administration	One-time fees of \$45.00 as part of GB 500 (Marketplace Business Fundamentals Simulation) and \$50.00 as part of GB 601



Program- and Course-Specific Fees	
Master of Health Information Management	PA-specific background checks and fingerprinting, \$25.00 to \$80.00.
Master of Public Health	One-time program fee of \$300.00 during initial program enrollment. PA- specific background checks and fingerprinting, \$25.00 to \$80.00.
Master of Science in Applied Behavior Analysis	One-time fee of \$468.00 prior to the start of PS507, PS560, PS561, PS562, PS563, and PS564.
Master of Science in Cybersecurity Management	One-time lab/simulation charges: IT 530, IT 540, IT 541, IT 542, and IT 550, \$45.00.
Master of Science in Education	Students who choose the Classroom Pathways Bundle with the American Board for Certification of Teacher Excellence Plus+ Program will pay a one-time fee of \$1,850.00 (\$925.00 in each of the last two terms of the MAT program).
Master of Science in Health Education	One-time program fee of \$300.00 during initial program enrollment. PA- specific background checks and fingerprinting, \$25.00 to \$80.00.
Master of Science in Information Technology	One-time lab/simulation charges: IT 530, IT 535, IT 540, IT 541, IT 542, IT 543, and IT 550, \$45.00.
Master of Science in Management and Leadership	One-time fees of \$45.00 as part of GB 500 (Marketplace Business Fundamentals Simulation) and \$50.00 as part of GB 601
Master of Science in Nursing	Primary Care Nurse Practitioner enrollees will have no more than 4 clinical course requirements that will be assessed a fee of \$350.00: MN569, MN573, MN577, MN581, MN585, MN610. Primary Care enrollees pay a one-time fee between \$340.00-\$540.00 for immersive learning experiences hardware and a one-time \$130.00 software fee in MN566. Adult- Gerontology Acute Care NP enrollees will pay a clinical fee of \$350.00 per course for MN653, MN655, and MN657. There's a one-time fee between \$340.00-\$540.00 for immersive learning experiences hardware and a one- time fee of \$170.00 for software in MN650. Psychiatric Mental Health NP enrollees will have no more



	than 4 clinical course requirements that will be assessed a \$350.00 fee: MN662, MN664, MN668, MN669. There's a one-time fee between \$340.00-\$540.00 for immersive learning experiences hardware and a one-time \$450.00 software fee in MN660. Nurse Educator enrollees will pay a clinical fee of \$350.00/course for MN590 and MN603. Executive Leader enrollees pay a \$350.00 clinical fee for MN590 and MN603. You may be charged additional fees by the third-party clinical facility at the location's discretion. Fees will vary by facility, will be applied to your student account, and may be paid using federal financial aid funds: NP, up to 4 fees; Exec. Leader, up to 2 fees; Nurse Educator, up to 2 fees. badge and required items, \$50.
Master of Science in NursingDNP Path	No more than four clinical course requirements that will be assessed a fee of \$350: MN569, MN573, MN577, MN581, MN585, and MN 610. In the NP program, there is a one-time fee between \$340-\$540 for immersive learning experiences hardware. In the Adult-Gerontology Acute Care Nurse Practitioner track, there's a one- time \$170 software fee in MN650. In the Adult- Gerontology Primary Care Nurse Practitioner and Family Nurse Practitioner tracks there's a one-time \$130 software fee in MN566. Executive Leader enrollees will pay a clinical fee of \$350 for MN590 and MN603. Psychiatric Mental Health NP enrollees will have no more than 4 clinical course requirements that will be assessed a fee of \$350: MN662, MN664, MN668, MN669. In the Psychiatric Mental Health Nurse Practitioner track there is a one-time \$450 software fee in MN660. You may be charged additional fees by the third-party clinical facility at the discretion of the clinical location. These fees will vary by facility, will be applied to your student account, and may be paid using federal financial aid funds: Nurse Practitioner, up to four fees; Executive Leader, up to 2 fees.
Nurse Educator Postgraduate Certificate	Clinical fee of \$350.00 per course for MN 590 and MN 603. May be charged additional fees by the third-party clinical facility at the discretion of the clinical location. Badge and required items, \$50.



Program- and Course-Specific Fees	
Nurse Executive Leader Postgraduate Certificate	Clinical fee of \$350.00 for MN590 and MN603. may be charged additional fees by the third-party clinical facility at the discretion of the clinical location. Badge and required items, \$50.
Psychiatric Mental Health Nurse Practitioner Postgraduate Certificate	Four clinical course requirements that will be assessed a fee of \$350.00: MN662, MN664, MN668, and MN669. There is a one-time fee between \$340.00-\$540.00 for immersive learning experiences hardware and a one- time \$450.00 software fee in MN660. You may be charged additional fees by the third- party clinical facility at the discretion of the clinical location. Badge and required items, \$50.

